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M.B.A. DEGREE EXAMINATION, OCTOBER 2019

Third Semester
COMPENSATION MANAGEMENT

(2018 Admissions—Regular/2017 Admissions—Supplementary)

Three Hours

Part A

Answer any five questions.
Each question carries 6 marks.

Explain the concept of Wage and Salary.

‘What are the types of Wages ?

Narrate the scope of Job evaluation.

Summarise the important types of fringe benefits.

Mention the advantages and disadvantages of Gain sharing.

What are the Laws ensures the social security of labour in our country ?
Explain the functions of Wage Board.

Write clearly about the components of pay for a employee.

Part B

Answer any two questions.
Each question carries 10 marks.

Critically evaluate the wages theories.
What is Allowance ? Explain its types.
Explain the important provisions of The Payment of Wages Act.

Summarise the emerging the issues in Compensation Management.

Maximum : 60 Marks

(5 x 6 = 30 marks)

(2 x 10 = 20 marks)
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Part C

Compulsory question.
It carries 10 marks.

13. The case discusses the compensation management practices at Tata Consultancy Services Ltd.
(TCS), one of the leading Indian IT companies. TCS’ compensation management system was based
on the EVA model. With the implementation of Economic Value Added (EVA)-based compensation,
the salary of employees comprised of two parts -fixed and variable. The variable part of the salary
was arrived after considering business unit EVA, corporate EVA, and also individual performance
EVA. During the fourth quarter of the financial year (FY) 2007-2008, TCS announced its plans to
slash 1.5 percent of the variable component of employee salaries since its EVA targets for the third
quarter of FY 2007-2008 were not met The announcement came as s jolt not only to TCS employees
but also to the entire Indian IT industry. The company came in for severe criticism and it was
accused of not being transparent with respect to EVA calculation. However, some analysts felt that
the pay cuts were a result of the macroeconomic challenges that the Indian IT companies were
facing — rapid appreciation of the rupee against the US dollar and the recession in the US economy
(USA was the largest market for the Indian IT companies) Question 1. Analyze TCS’ HR practices
with respect to its policy related to compensation of its employees.

1 % 10 = 10 marks)
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(\\\\\{ M.B.A. DEGREE EXAMINATION, NOVEMBER 2017
Third Semester
COMPENSATION MANAGEMENT

(2016 Admissions—Reguu. ./2013 to 2015 Admlssmns—Supplementary/Z012 Admissions—
Mercy Chance)

‘T'ime : Three Hours Maximum : 60 Marks

Answer all questions.
Each question carries 12 marks.

1. (A) Describe steps that organizations can take to ensure that actions intended as rewards are
actually perceived as rewards.

Or

(B) Provide a detailed discussion of factors that most often come into play in litigation with regard
to performance management systems.

2. (A) Describe the mechanical strategy for obtaining an overall performance score.
or

(B) Provide a detailed discussion of the methods for performing a job evaluation.

3. (A) With suitable illustrations, discuss advantages and disadvantages of using pay-linked

compensation in selling cigarettes ?

Or
(B) What is profit sharing option ? Discuss the advantages and disadvantages of Profit sharing
option— if given by Infosys.
4. (A) Whatis Pension ? Why it is important for employees’ view point ? What is the support measures
expected from the organisation in line with Pensions ?
Or
(B) What is a wage ? How the wage is fixed ? Discuss the process of fixing wages for transport
sector employees.
5. (A) What are the components of pay-restructuring you are suggesting for Tea Plantation employees
in Kerala ?
Or
(B) Discass various issues in fixing pay for IT employees for a start-up company in India : and
where the employee has to work in UK.
(5 x 12 = 60 marks)




